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gl#). iR H&KIEF) s =s(t)
iR B

dv
dt

2P a=(s")

Hmig F a=
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T EEH Y= T(X)FHK y = f'(X)TH,
WA £'(X) 6g- %A (X)) =HF4&,

2
y" =(y’) ’xj d(oIy

%2 dx dX)’
FAhd, —HrFEK KA AH =02,
Nn—1M-FEEGF AL n 3
SAeE vy, yW Ly,
5 d’y d'y d" y
dx3 dx* 7 odx"
By k2, 505 B R AR T 20




%1 (1). KR y=ax+bsincx 8 3H~4&.

##: y'=a+bccoscx,

y"' = —bc?sincx,

y'"" = —bc’ coscx.




11 (2). & y=x2f(sinx), RY", £¥f BT

By =2x- f(sinx)+ x°- f'(sin x) - cos X

y"'= (2x f (sin X))’ + (x° f'(sin x)cos x)’

=2f(sinx) +2x - f'(sin x)-COS X
+2x f'(sinx)cos X + x2 f "(sin x)cos® x
+ x° f'(sin X)(=sin x)

2

=2 f(sinx)+ (4xcosx — x“sin x) f'(sin x)

+ x2cos? x f"(sin x)

BEaRFeAfE&EFRAKRAIN




#12. % y=e2%, K yN,

By =ae®, y"=a‘%e®, y"=a%>, ..,

y(n) _ gNgaX

= B TR AR T T




#13(1). % y = In(1+x), £ y".
1 1 "m 2 1.2
2z - = — , — —1 y
ey 1+ X (1+ x)* yr=t1) 1+ x)°
1.2-3 1 (n-1)!
3 o o y(n) = (=1)" 1 |
(1+ X) (1+ x)

(4) = (-1)

' Ly _ (n)__(n—l)! XM
%13(2). & y=In(1-x), y*'"V = (1_X)n-(élﬁr)

1
(1-%)?
1-2-3
(-
B kFwEA[EE




#l4. &% y=sinx, £y,
. y' =cosx =sin(x+7)
y" =cos(x+7)=sin(x+7Z+7)
=sin(x+2-7)

y" =cos(x+2-7)=sin(x+3-7)

(sin X)) =sin(x + nZ”)

M2 ) 29 N
EMWTHF: (cos x)™ = cos(x + 7”)

EaKFd

= B TR AR T T




XS X2 4 X2 —X +x=1+1

1-Xx

y:

3

. TR FHK Y = 1’i—x N 520

fiE y=—x2—x—1+i, y'=-2x-1+ =

1.2 ' 1.2-3
(1-x)°

=2 +

(1-x)>




=, SYrEeE FER)

EHF U= U(X) & V=V(X)ZRAH n K2, 0
1. (uxv)M=u™ £yM
2. Cu)™ =cu™ (CHEX)

n(n-—1)

3 u(n—2)vn n

3. (uv)™ = uMy + nu™Hy' +

- n(n —1)--I;(In— k+1) y (N=K)y, (K)
) Bz
et T ZCKU(n_k)V(k) (f(O) =z£ )
k=0
— E & R (Leibniz) A
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—RARZFHE: (u+v)" ZCk n—ky K

¥ A % (Leibniz) X

ALE
RE Zc Ku(n=ryto (£ O = 1)
k=0

) 33 VA2 3R T IE R A Rk s R R AL




#]5. y = x%?*, Ky, #2 Y=
f: Zu=e?*, v=x?%, N VWNPUPCES
ulk) = 2Ke?X (k=1,2,---,20)
v'=2x, v'=2, v =0 (k=3,-,20)
RANEH REAX, 17

20 T
J@ _ ek @yt (107 )
k=0
=1.20e%%. x2+20 - 2%e%*. 2x +

20-19

2| ‘21862)(‘2

= 22062X (x° + 20X + 95).
EOU VI —AENSERIFE,
—AMAEB RSB FHEAO0.
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AP LRY
1 SRS
2 S KE:
(1) ZHrKF %
(2) AR yALh %

(3) FI R kA gz~

HLSE
(uv)(n) _ ZCrl](u(n—k)V(k) (f(O) = f)
k=0
Vi — A& E,

— MM EBRZ T8 e H 0.

B KFaAafe &FRF
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— BRI F2K

EFHFZFEF(X,Y)=0 THRZ Y Z x t9F%k, Nk
R R A 18R 5K

E. By =T(X) T HELAARA B HEKL.

[RBBRFFTE G F(x,y)=0, WLzt x LF T4
dd_xp(x, V) =0 (53 y 89 542), REML Y.
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2 2

#11. KA 1‘6 . =1£5(2 33) Rt

9

i A

WMINR TR y—g\/_ = —?(x —2),

Al \/§x+4y—8\/§=0.

BEaXFaas

B 5 I AR £




512,38 y=y(X) g F42 ¥ + xy=e A, £Y'(0), y"(0).

MR FAERAAN x RF, #
Yy +y+xy' =0, BiFYy = _yy,
X+€e

, 1
G x=08,y=1T4#F y(0)=—g;

-y . Y(x+el)-y(l+e’y")

x+ey) e (x+eY)
_y(2x+2e? —ye?)
 (x+eY)

y" =(

1
”O=_.
y"(0) -2
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1) 5 R4S S y = u' (U, v AR ) TR HK S

(1) Bxt£ Iny=vinu

(2) KF %y'=v'lnu+vi




#13. Ry=x"""(x>0) )5 .
fR: P BT A

Iny=sinXx-Inx

B xt x R

1 sin X
—V =cosx-InXx +—=

y X

sin X
y' = x""*(cos x - In x + —=)
X




4. % y=(sinx)®"*, Ky

(B3 . AT EERTE:
In y =tan xInsin X,

. COS X
Y Csec? x-Insin x + tan x- 2%

y sin X

tan X

(sec? x - Insin x + 1).

y' = (sin X)




i, 3y =(sin X)X+ x5 Ky
Y1 Y2
o AR HREER Y] Y

R Ay, = (sinx)", y, = X,

C oyl = (sinx)®"*(sec” x - Insin x +1), (8141 4)

sin X sinx

y'2 — X (COSX'InX+T)1 (‘b'fﬁ] 3)

LY =Y+ Y,

tan X

= (sin x)®"* (sec® x - Insin x + 1)

. Sin X
+x""*(cos x - In x + —=).




B15. R y* = x) #2918 R0 T4 Y.
M BH
A BTHE: xIny=ylinx,

K157 |ny+x-yv= y'-Inx+l,
X

2
&]’tiﬁ%/ﬁ%{ dy=y2—xy|ny.
dx x°—xylnx




2) A B R A HR R RFIRTIE

/ a b
Bl Y= E) (B) (ij (a>0,b>0,3¢1)
\ D X a b

J@ﬁ&ﬁ&

Iny = xlnz+ a[Inb—Inx]+b[Inx—Ina]

)
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%ok
CT2-3 1(4,6,7,9,12); 2; 3; 4; 5; 8; 10; 11*(2,3)
CT2-4 1(2,3); 2; 3(1,3,4); 4(1,4)

TRRAZ

£ (2) WA F AT RIS
BRY RIS




55 3 5 AR FR 3] Rk
T1. % T(X)5 9(x) ¥ &5 Xo 4, 28 &%
o(x)=max{ f(x), g(x) }
w(x)=min{ f(x), g(x) }
W X 4.

W HAZ 2 AR
p(x)= 31 £ = g(x) |+ F()+g(0)],
w(x)= 5L F)+9(x) = ()= g(x)]]

AR i 48 R BB FE N
T4 @(X), W(X) W IE Xg HELL.
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T2 KT FIHFB :

lim (Jx2+x—Jx2—x).
X—>+00

2 X

f#. R = lim

>“”®Jx¢+x+¢x2—x
2
x—40/1 4 x4 /1 x7!

1.

IIm




T3. 3K FFI KRR

J1+tan x —+/1+sin x

lIm
Xx—0 xJ1+sin2 X — X

i

st - lim tan X —sin X
x20 x(V1+sin? X — 1)(~/1+ tan X + ~/1+sin x)

tan x(1 — cos x)

= |im
A x(J1+sin2 X —1)(~/1+tan X +~/1+sin x)

= lim
X—0

xésin2 X(~/1+tan X + ~/1+sin x)
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£ lim (sinx)®@"*.
X—>rl2

/'%;\{‘ — |lim (Sinz X)tan X/2
X—7ml?2

anx/2

lim (1-cos? x)!
X—>7ml?2

_ 5 5 —(=sinxcosx/2)
lim (1-cos® x)—¢os X
X—7rl2

= B TR AR T T




T5. {EBH F R x=asinx+b, Hr

1 AN

a>0b>0,

20F A ER, FHENEL

iE 4 f(x)=x-asinx—b, xe[0,a+h].

V135 BR BT BT

fa+Db.

A%, f(x)eC[0,a+b], A
f(O)f(a+b)=-b-a[l-sin(a+b)]<0

(1) 24 f(0)f(a+b)=0H/, sin(a+b)=1=f(a+b)=0
a+bBMERTEN—IMAEE a+b IER.

2) Hf0)f(a+b)<0H, HELE

Za (1) nlan, RATE 2084 ER, FFHEAHE

a+bh.

~a+b B

A
—
)

¥, f(X)7E (0, a+Db)

R
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T6.iE9: 2 F(X) /& (—o0, + 0) R i&4E, lim f(x)

X—>»0

B, W f(X) 3 f (—0, + o) WA T~

#E: A lim f(X)=A, MAZe=1>0 IX>0, &
X—>0

x|> X B, [ FO0)-A<1ahkz,

= f(X)=f(X)-A+ A< f(X)-A+|A<1+ A;
X f(x)eC[-X, X], #iEA Rk 2, IM; >0,
f(x) <My, xe[-X,X];
B M =max{l+ A, M}, 1] f(X)<M, Xxe(-w, o),
# f(X) & (—o0, +0) AAF
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R
#)1* 3% y =e*sinbx (a,

i y'=ae®™sinbx+ pe®

k.

b Ay w4%), Ry™.

cos bx

= e (asinbx + bcosbx)

=e®/a% +b?sin(bx+¢) (¢ =arctan Z)

y" =~/a? +b? [ae*™sin(bx+ @)+ be™ cos(bx + ¢)]

_ /a2 +p2e?* /a2

n

+b? sin(bx + 2¢)

y(" = (a® +b?)2e*sin(bx+ng) (¢ =arctan Z)




2% 3% f(x)=3x°+x%|x|, £ F(0) BAENUES
N n= 2

3

4x>,
AT f(X) = { 2;’

, _2x° -0
- 10)= I'T- . 0 12x%, x>0
o - f'(x):{

x>0
X <0

S _ 2
£/0) = lim =9 _g 6x%, Xx<0

x—0" X

2
2 £7(0) = lim & —¢
0 X f”(x):{
2
£7(0) = lim *2X° — o

x—0" X

22 f"0)=12, f(0)=24, (A H) .. {"(0) *A&E .

24x, x>0
12x, x<0




1—-cos2a
2

a’+b%=(a+b)(@®-ab+b?) sin‘a=

°x+cos® x, £y,

#]3*. 3% y =sin
f#: y=(sin%x)* + (cos® x)*

=sin* x —sin® xcos® x + cos™ X

= (sin” X + c0s® X)? — 3sin® x cos? X

=1- 3sin2 2X = Z+ :cos4x cos(a + ’2’) =—SIna

3 : 3 T
'=—(-4sin4x) = —-4cos(4x + =),
y' = (-4sin4x) = _-dcos(4x + )

3 2 . T 3 2 27T
"= [-4°sIn(4X+ )]=--4°cos(4x+ —),
y" = [4%sin(4x + )] = 4% cos(dx + )

T 37 (n) 3 n 112
= —-4°cos(4X+ ), .-, = _-47Cos(4X+ -






